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o . SECTIONI (50 MARKS)
: . Answer all the questions in this section. .
1. Simplify the expression
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s of 2 b, Each ftay contains 30 eggs, but 34 eggs
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" 4. The cost of providing a commodity consists of tIaIleUI’t, labour and raw mater*als n tbe
ratio §:4:12 respectively. If the transport cost increases by 12% jabour cost 18% and raw
_ matenals by 40%, Find the percen ge increase of producing the new commodity (4mks)

5. 'The figure below shows a histogram.
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Flll m the table below the missin, frequenmes _ (3mks)
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6. Two consecutlw positive odd numbers are such that the difference &f twice the larger

- number and thrice the smaller number is 21 Find the product of the numbe:s .(zmk )
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7. The diagram below, not drawn to scale isa regular pentagon cncumscnbed ina cn'cle of“
radius 10 cm at centre O. . : :
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8: de péiésehger trains Aand B which are 24OM a part are travehng at 164 Km/h and 88
- km/h respecﬁvely approach one another on a ‘straight railway line. Train A is 150 metres
long and train B is 100metres long.. Determine the tlme in seconds that elapses before thy

| two trains complctely pass each other. [ : (3mks)
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10 Every time an insect jumps forward the distance covered is half of the prewous Jump If
. the insect initially ]umped 8.4cm, calculate

i To the nearest two decimal places distance of the sncth jump. (1mk
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15. A triangle ABC is formed by the pomts A(__,4), B(-7,2) and c(1,-2). -
— points K of AB and P of AC
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ii. The total distance covered atier the sixth jump. (2mks)
!.
11. Oluoch paid Ksh. 450 for a trouser after getting a discount of 10%. The retailer still made
_ a profit of 25% on the sale of this trouser. What profit would the petailer have made if no
(3mks)

chscount was allowed?
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\ 12. The dimensions of 2 rectangle'are 10¢riFand 15cm. If there is an exror o

" 'measurements. Find the pﬂcﬂﬁgg; HOT 18 tﬁci area of the rectangle. .
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13. The velocity of water flowing through a pipe is invers’eiy p;ogomond to, the square of
ra:dlus of the pipe. If the velocity of the water is 30cm/s when the radius of the pipe is 2cm.
Find the velocity of watef when the radius of the pipe is 4cm. o (3mks)
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v : o
¢ f sticl Jined in 2 match box.
16. The chart below shows the number of sticks ngtmpcd . *

- NO OF BOXES

Find
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'b. The mean number of sticks in each box. o G
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!"l e (a) Compjete the table below for the: functlon y = 2%t + 4\-'*‘\-—3-jvl3.'"_?‘k5).j. :
£ "‘.,‘.‘_ﬁ“‘"" “TE "f'f‘*‘-‘z“‘»‘*"‘-'ZT‘:T;]‘FJ'“..__._._*_*JE‘.‘Z .
B A eV - ZZ |6 |-} = [UNEIRS P AES—
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oS 120 0 & 110 5 'jo_ T ) A
S O™ N N E TR P @ i R ik R T2
3 e --=(b,)- On the gnd pmvtded draw the graph ofy Zx +4x ~5% -8'”. '(313“}‘5)_' '

: Scale x-axis; Zcm rcpresents 1 unit
” y-axls, l om represents 5 umts

- {e) By drawmg 8PProPﬂﬂte stra:ght lmes sohe the equauons : ke
‘ R 8 Zox- 7= o (2 mks)
B
i "2x5 +_4>L - le + 4 = 0 A e . ‘..“(2:1\!3)_
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i . ."the figure below ShOWS a tuan;,ie of vectors in: whlch 08: SP“ 1 3, PR _RQ =2
=~ and T 1sthemxdpomtofOR " o : co ‘

) Given that OP pand QQ—q express lhe foﬂowmg vec,%ors in terms of p and q .
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- b) Express TS in terms of‘ p and q and hence shm\ that the pomts Q, Tand S dre -

P EEERT c) MnsapomtonOquchOM kOQandeM xsastraxght!me Given that |
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18 a using a ruler and pair of compasses only,construct a paralleigram PQRS where PQ=8cm QR=5cm
and PQR=120.Bisect PQR AND SPQ so that the angle bisectors meet at x.(6mks)

b.construct aperpendicular from x to meet PQ at M.(2mks)

c.calculate the area of trianglePXQ{2MKS)
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19.a)show by shading the unwanted region the area represented by the inequalities below.

4y<x+11 1 x+y<9 S5y>3x-3

b)calculate the area enclosed (10mks)
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20.the diagram below show a bucket with top diameter 40cm and bottom2Scm. the height of the
bucket is 28CM

198
\

Find the capacity of the bucket in litres(Smks 2§ xSV
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Find the area of the metal sheet required to make a hundred such buckets taking 10%extra for
overlappmg and wastage(5mks)
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21.waniru travelled to London with kshs 500,000.she exchangedthe kshs for sterling pound on arrival
when the exchange rate was 1pound sterling=kshs104.(4mks)

Determine to the nearest pound how much he received if the bank cha

7 rged him a commission(4mks)
SLMALL NSy
\ 0 L e

b. In London she spent pounds 3150 and travelled to Washington where she excchangrd the balance of
his money for us dollars the rate of exchange was 1sterling pound=
receive in us dollars assuming no commission was

ool charged(3mks)
. 515D

TCSE 5§

I = V-budD

| b 1 b€ = 20¢2.¢

—

1.6 us dollars.how much did she

C). She spent % of the money an then travelled back to Nairobi. She exchanged the remaining dollars to

kshs at the rate of 1 us dollar=kshs 73.25. how much didshe receive inkshs assuming that no commission
was charged(3mks)

S xbse8
of E%;,L%“@'?—y

L kS, 39 -uo

—

Powered By: www.manyamfranchise.com

S A e —

H%A.,_NT e




22.In a research carried out to try a drug on treatment of malaria a sample of 45 cows was diagonised
to have the disease.25 cows were treated with drug and the rest were not .the probability of acow being
treated and dying is 4/15 and that of not treated and dying is 13/15.

a)calculate the probability that acow picked th random is

1)treated with the drug and will die
=
as 9

—_—

2)acow will not die{3mks) T

z 13
4 45

2

—"

"Cj—— 135

b)the research found out that if a cow is treated the probability of it dying is 4/5 while if not treated it
is 2/3.find the probability that acow picked at random from the 45 cowsi

1treated with the drug and will die

2.not treated with the drug and will not die
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